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OsgtlEy 322l 150,000 0 150,000
OI=EZaE3XelAd SUstALS 7,044,000 5,040,000 2,004,000
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= 2,466,000 1,758,000 708,000
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) 429,810 309,600 120,210
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8,720& » 4AIZt = 0.5 = 4H * 120 8,372 9,767 A 1,395
-S4 5,000& * 4% * 120 2,400 2,800 A 400




SN SEBBD
E: RRE +IHY I4
Sl BAAL L CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
S EEE] 4,479 6,696 N
OBIXY o3 A AR 57,081 69,581 ~12,500
-J123 69,7602 * 4% * 1202 33,485 39,066 A5,581
-RaFY+y
69,7609 * 0.7 * 4% » 29% 5,665 7,814 A2, 149
~§IZDR4Y 60,760 * 4% * 0.5 » 8L 1,117 1,675 558
—ort g
87202 * 4AI2 * 4 x 0.5 * 1202 8,372 9,767 A1,395
- 24| 5,0008 * 4% * 1202 2,400 2,800 £400
—42EE 4,479 6,896 ~2,417
405 Tt St 70,400 75,000 £4,600
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401 NEHIL 2 THYI 9,541,810 6,026, 100 3,515,710
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02 232l 7,200 13,200 6,000
OBFANR LB BHE SURS 2,400 3,600 A1,200
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401 A& HIZ 201 8] 94,574 75,000 19,574
01 A& HI 94,574 75,000 19,574
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201 Let24E] 17,580 17,580 0
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OFIEHE OtREZ 27| &AL X& 20,000 0 20,000
B3XE FE=X S/ L BHOSAELINAS (3 310,700 260,700 50,000
HSA &N = L BEHOSAEEINAY)
= 231,000 231,000 0
=) 29,700 29,700 0
Al 50,000 0 50,000
401 A& HIZ 201 Y] 310,700 260,700 50,000
= 231,000 231,000 0
=) 29,700 29,700 0
Al 50,000 0 50,000
01 A& HI 310,700 260,700 50,000
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01 2404 b 44,432 54,432 ~10,000
O 2= JI2gR FA0HHI 44,432 54,432 A 10,000
Hegs(=2&3n) 72,592 69,601 2,991
SHXNE 72,592 69,601 2,991
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